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FIRST REVISION EXAMINATION, JANUARY - 2024

Time Allowed : 3.00 Hours] MATHEMATICS . [Max. Marks : 90
PART - |
I. Answer the following: 20x1=20

1. If Aand B'are orthogonal then (AB)_T,(AB) is

[Class : 12] Registecss

a) A b) B Ll I d) AT

- 5 3
2. Ais non singular matrix. If A = ( ) then (A7)t = wmeeee-mme
2 .

a)(-S 3) b) (5 3) | o) (-1 —3) d)(5 -2)
2 i i 2 -1 : : 2 5 34 -1
3. Value of id + ™1 + ™2 4 —oeoeee - S h Y
ay 0 . b) 1 ¢yl . d) i
4. Therange of sec x is ,
a) 0.7- [ b) 08 O [z o) d) [T, Wl - 0}
5. -The angle between the curves y2=X and xzy at the origin is 7 | o
a) tan' (3ly) b) tant (4/3) c) My ' : -d) Ty
6. The locus of a point whose distance from (-2,0) ié 2/3 times iis distance from thé line- x=-9!2 is
7 a)‘ a parabola b) a hyperb_ola c) an ellips_e} \ d) acircle .

Sin! (Cosx) = T/5 - x is valid for

i~

@) -m<x<0 b) 0<x<m c) -Mp<x<Ty d) -My<x<3M,
8. The least value of the function |3-| ¥ 9

a) 0 b) 3 _-‘c)‘6 d) 9

9. The differential equation of family of curves y = Ae* + Be™* where A, B are constants is
d* ' d2 ' d - d
a) —y‘fy=0 b) __y-y=0 ) _.Y+y=0 d) _y-y=0

dx? dx? , dx dx-

10. The vertex of the parabola x? = 8y-1 is

a) (g, 0) b) (1, 0) o) (6, %) d) (%, -6)
A=A ) - ‘ )
.. If?=,l\ +/j\+ k,b=i +'j\,?=,|\and (—é)x—b>) x?= ?u_a)+ p.g)then the value of A+pis

a) 0 b) 1 c) 6 . d) 3 CP/12/Che/l

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

12

13.

14.

15.

16.

17.

18.

19.

20.

.

21.
22,
23.

24,

www.Padasalai.Net www.TrbTnpsc.com
The number given by the mean value theorem for the functioh 1/x, X€([1,9] is
a) 2 b) 25 c) 3 d) 3,5
If f(x,y) = " then azf/ax(}y is equal to
a) xyev b)  (1+xy)e Q) (1)er d) (1
If the function f(x) = 1112 for a<x<b represents a probability density function of a continuous
random variable x then which of the following cannot be the value of a ahd b?

a) Oand 12 b) 6and 17 c) 7and19 d) 16 and 24

In the'last column of the truth table for T(PvTa) the number of final outcomes of the truth value

'F are
a) 1 B): 2% o 3 e
‘ .
ff(x) = [t costdt then dffy, -
0 .
@) Cosx-xSinx  b) Sinx+xCosx 'c) xCosx d) xSinx
x .
? Sinx
Value of dx
2 + Cos x
_xlz ‘ : g 4 g N
e b) 2 c) log2 | d) log 4

‘Which of the following is not true?

a) ,21 7 zz] E. ,Z1l L5 Izzl b) IZ1 - Zzl ol IZ1| o |22|
c) Re()<le ‘ L d) m@s<[

x? + px + 3P/4 = 0 roots of this equation are a, p. If |a-B| = V10 then the value of p -

a) {2, -5) b)) {3,2) o) {25 “d) {3.-5)
The directricgs of the hyperbola x?-4 (y-3)? = 16 are
a) y=4+8/z b) x=+85 ) y=+Bjg d) x=+5
| PART - B '
Answer any Seven questions. Question No. 30 is compulsory. : 7x2=14

Find the value of tan" [tan[-/4]].

Find the centre and radius of the circle 3x+3y?-12x+6y-9=0,

If f(x,y) = x*-3x*+y?+5x+6 then find fx at (1,-2).
1!, i
Sin x
Evaluate — X

1+ Cos?x
CP/12/Che/2

f
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Solve the following system of linear equations by Inverse Method. 2x-y= 8; 3x+2y = -2

33 x>0

The probability density function of the random variable X is f(x) = {
‘ 0 elsewhere

find the mean of X. ‘
Find the angle between the lines 2x = 3y = -z and 6x = -y = -4z, ‘

If 1is cube root of unity and (1+m)7 = A+bw where =1 then find the value of A and B.

Z, = 2-i and z, = -4+3j then find the inverse of 7-112
LetA {a+Vbb, a, bez} check whether the usual multiplication is a blnary operation on A.
PART -C

Answer any Seven questions. Question No. 40 is compulsory. \ ¥ - Tx3=21
ForA= [ ] find adj A. And also prove that A(adj A) = (adj A) A = |A] 1.
2 -5 , R A
Prove that 1, =1/ + ¥3/5 and -1/5-¥3/, are the vertices of equilateral triangle.
Find two positive numbers whose product is 20 and their sum is’minimum.

Find the area of the region bounded by 2x-y+1=0, y=-1, y=3 and y axis. ;

Solve: 4Y/gy, = exy + x2 eX’+Y, 38

, 8 o :
2k 2k
Evaluate: z (Cos S5 +i8in _n)

k=1 9 9
‘ » X2 'YZ 2h2
Prove that length of Latus rectum of hyperbola _ - =1is —.

_ el b istu- g
Solve: Cos x Cos y dy - Sin x an y dx = 0. |
If u and o? are the mean and variance of the discrete random variable X. Also E(X+3) = 10 and
E(X+3)? = 116. Find pand o?. | ‘
Prove that (i) Pv ('IP') Is tautology and (ii) P A (P) is contradictioh.

PART - D
Answer all the questions. ‘ | ‘ A 7x5=35
a) |f ax? + bx + c is divided by x+3, x-5 and x-1, the remainders are 21, 61 and 9 respectlvely
Find a, b, ¢ (Use Gaussian Elimination Method). '

(OR)
CP/12/Che/3
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Simplify: (-V3+3j)*,
Find the centre vertices and Foci of the ellipse 4x£+y=+24x-2y+21=0. Also find the latus
rectum. » |
(OR)
Prove by vector method Cos (a+f) = Cos o, Cos B- éin o Sin B
Find a polynomial equation of minimum degree with rational coefficients having ¥5 - ¥3 as a
root.
(OR)
Solve Cos (tan" x) = Sin (cot*3/)
Prove thato f -"‘log (1+tanx) = /g log 2.
| (OR)
Solve: d_y = x;y+5_
dx 2(x-y) +7

Show that the 'straight lines x+1 =2y = -12z and x = y+2 = 6z-6 are skew and hence find the

shortest distance between them.

i (OR)
If we blow air into a ba"oon of a spherical Shape at a rate of 1000 cm?® per second, af what
rate the radius of the balloon changes when the radius is 7 cm? Also compute the réte at -

which the surface area changes.

The sum of the mean and variance of a binomial.distribution for five trials is 1.8. Find the

distribution.

(OR)

(P—q) A (q—>‘p)

Prove that p<>q
Find the absolute extrema and minima for the function f(x) = 3x* - 4x? at the interval [-1,2].

(OR)

If the curves ax?+by?=1 and cx?+dy*=1 are cuts orthogonally then prove that g-Np="1g-104.

CP/12/Che/4 -

> - T
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